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The datasheet states that the voltage of Vcomp is sourced to the compensating component at 30uA and the voltage of
Veomp rises linearly, but when | actually simulate the circuit, | think it is not linear. However, when I look at the Vcomp Figure 12. Start-Up Waveform (115 VAC, 60
waveform of the actual device shown on the website, | see a linear increase. What is the mechanism behind this? Hz, 0.45 A load, Ch1 = Iy @ 5 A/div, Ch.2 =
VCOMP @ 2 V/div, Ch. 3 = VSENSE @ 5
Vidiv, Ch. 4 = VOUT @ 100 V/div offset by 155
VDC)



